
PLEASE SUPPORT 2014 ASER 
 tenth The Annual Status of Education Report

A big tree stood in a garden. It was alone and 
lonely. One day a bird came and sat on it. 
The bird held a seed in its beak. It dropped 
the seed near the tree. A small plant grew 
there. Soon  there were many more trees. The 
big tree was happy.

53% of children in Std 5 in India CANNOT read 

this story in their own language.

Std. 2 level text 

SUPPORT ASER IN A VILLAGE OR A DISTRICT

For online payments, please visit : 

Mailing Address : 

For more information, please visit :  or call 

Write to us at 

http://www.pratham.org/get-involved/donate-now?view=donation

Pratham UK Ltd; 58-60 Kensington Church Street (Suite 21); London W8 4DB

www.pratham.org.uk

office@pratham.org.uk

020 7368 3396

Source:ASER 2013

Survey of ONE VILLAGE costs 30 GBP

Survey of ONE DISTRICT costs 900 GBP

You can either pay online or post a cheque to our office

Cheques can be written in favour of “Pratham UK Ltd”.

In India, more than 96% of children age 6-14 
are enrolled in school. But are they learning?

Every year since 2005, ASER - the Annual 
Status of Education Report - has provided 
answers to this question.

2014 marks the tenth anniversary of the ASER 
survey.

ASER is a household-based survey of schooling 
and basic learning. It is the only annual source 
of data on children's learning available in India 
today.  ASER is done in almost all rural districts 
in India each year. 

ASER is facilitated by Pratham/ASER Centre 
and carried out by local organizations in each 
district.

Every year the survey reaches about 600,000 
children. More than 25,000 volunteers 
participate in the survey. Close to 15,000 
villages are visited.

Children in the age group 5-16 are assessed in 
reading and basic arithmetic. The results are 
released in January each year. ASER findings 
are quoted extensively in India and abroad.

47.8% of children in Std 5 

in India CANNOT solve 

this problem.

74.5% of children in Std 

5 in India CANNOT solve 

this problem.

Std. 4/5 level division Std. 2 level subtraction

Source:ASER 2013


